INEFRGESAEE SM7E 1 BANYPMNPIE £1 - 245= #ea> 18W~484. 6 86

FEEHF FRAXD

11 (£)  HERIYMR-ILIST ARVE RRIWNR-IIST(RK) 1~4 E1HKBE (1/2)
12 (H) | /XZRIyyhh=-IlfERX= ([BE) IRy M=) 1~5 F1H(EBE
13 (A) | SRyybh-ImEXRE (BE) N2y bR=)L s 1~5 H14EE
15 ()K) | FCEHERIVMIILHE=E HRIVNR=IIST(RK) 3~5 E1HEBE (1/2)
18 () FCERIVMIILEE RRIWNRN-IIST(RK) 1~2 EL1EKBE (1/2)
18 (X)) | DA-F2THPvh—-H=E Byh—th= 3 HE14BZE (1/2)
18 (£) | % 1EME BT HEAS (MEABSR) NIDRFZAHS 1~4 FE24EBE
19 (A)  mERX= (BF) N2y k=) 1~5 EB1IAHBEE
22 (7K) | FCERIVRHILEHE HRIVNR=IIST(RK) 3~5 HE1HEBE (1/2)
25 (1) FCERIVAIILEE HRIVNR=IIST(RR) 1~2 HB1EKBE (1/2)
26 (H) ZZF=X%= (—HROEB) NL—R=ips 1~5 HB14EE
29 (K) | FCEHRRIVAIILEE HRIVNR=IIST(RK) 3~5 E1HREBE (1/2)




